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Part-I/9mi-1

1. Who among the follo ng was
the Constitutional Advisor of the
Constituent Assembly #

(2) B.R. Ambedkar ~

(¢c) Dr. Rajendra Prasad
(d) Jawaharlal Nehru

2. Who was the most lmpontant minister of
the ‘Ashta Pradhan’of Shlva_u ?

ﬁ (a) Sare Naubat § (b) Eeshwa

(c) Ma]umdar d)- Pﬁnd.lt Rao

3. Find the missing number in the
following table.

15 | 92 | 31
25 | 102 | 26
17 | 2 | 19

(a) 82
(c) 62

(a) Leaves (b) ﬁoots

@

5. In business, profit and service motives
are
(a) Reciprocal
| (b) Complementard
(¢) Contradictory
(d) None of the above

6. In Wh1ch reg1on has J;he Rain Water

Serrts

E)ﬂ'ﬁﬁhdelkhané Fb
(c) Gorakhpur '(d) Kanpur

*2%

Qeneral Studies /amTa JeTTH

1. T=fafea 4 @ <= @fyam oo =1 s
TATEHR o7 ?
(@) . IR, IR
(c) & Torg Fae
(d) SIS T

2. Emh % ‘ot q9m &1 998 e A o
HE AT ?
() WR-Frm
(c) WASK (d) ufsa wa

3. Frafafea arfef § g s@n s Hifk |

15 92 31
25 102 | 26
17 ? 19

(a) 82 EE (b) 112

4. aM$Lﬁﬁraﬂeﬁq—a1an% ?
(a) 9w (DRSS
5. O™ § AN TS Yo TASH B

(a) IR
(c) Ve /e
(@) ST ¥ | =g &

6. TN S H=EA 3R Rewer T faawor T
R R B TR R ?

(a)g%a@zj (b)entrmﬁ %
() TR ()
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©10. If79-24=10,82—-16=

i

7. Indian Standard Time has been
determined by which of the-following
meridian (longitude) ?

Ua) 82° 30’ East longitude | 2
(b) 81° 30’ East longitude .
(c) 84° 30’ East longitude
(d) 83° 30’ East longitude

8. Whose selected speeches have been
published as a book titled “éldokténtra
- Ke Swar” ? ey :
(a2) Deen Dayal Upadhya,
(b) Atal Bihari Vajpayee -

li(:) Ram Nath Kovind l s

(d) Lal Krishna Advani *

9. With reference to India, match the
following Acts with their year and choose

EEE the correct answer using the code gi_ven
E'E% below the lists.
B A. Wildlife Protéction Ac
B. Environment Protecti
Act
C. National Green Tribunal 3.
Act 2
D. Biodiversity Protectig;
Act
Code : - :
(a) A-2,B-4,C-1,D—
[0 A-3B-1C-4D-2
() A-1,B-2,C-3,D-4
d A-4,B-3,C-2,D-1

1. 1986
2. 2002

1972

- 4. 2010

95 —-11 =12, then 87 — 13 is.equal to

(2) 74 () 47
© 19 (@]
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7. TR e T e o weTe (qur)

(b) 81°30'.qd W=
(c) 84° 30’ Y& =R
(d) 83° 30" T =R
8. Fri I T TN B O Te % w9 &
“HArehad o T S ATH Y-JHINIT T
B (2) 4 gt ST
(b) 3w forrl) Trog

L(c) W m’rﬁ?j

(d) T HeUT JTSAT
9. ¥R % eyl o Fr=foien sfufmml = o
= @ gt o 3 gRE % F9 fog T
S 3 v 3 T 3 g |
A, FSHa TREor iR 1.
B. e g st
C. T B SR
artafEm
D.ﬁa%ﬁamwmm@ﬁm 4.
(@ A-2,B-4,C-1,D-3
[(b) A—3,B—1,C—4,D—2,

© A-1,B-2,C-3,D-4 EiE
,.%_
(d) A-4,B-3,C-2,D-1 BE&=.
10. IR 79-24=10,82-16=23 @
95-11=12%, & 87— 13 R 8

1986
2002
1972

el

2010

@ 74 (b), 47

* 3 *
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11. Which acid is found in Mﬂk ?

/g~
12. The average of the first ten odd prime
numbers is
E_El (a) 13.8 () 12.8
(d) 14.8

13. Which of the following is NOT a folk dance
of Uttar Pradesh ?
(a) Charkula™~ (b) Kathak -

(@ Novtenk

14. Who among the following headed the
Panel “One nation one election” ?

[@ Ram Natlf‘iiovinﬂ

15. If English alphabets are all represented
by the successive prime numbers
starting from 2; then the:value of the
word JHANSLis
(c) 180

(b) 177
(d) 189

16. The imprisoﬁ..;gs;hei‘e ‘Subhash Chandra
Bosé, Lokamanya Tilak and Lala Lajpat
Rai passed their imprisoned life, was

1] EI
ok (a) Devali Camp Imprison
" (b) Borstal Imprison

r(c) Mandalayul"mpnson ]

(d) Alipur New- Central Imprison

celebrated ?
| (a) 5'2 June |
(c) 7*2 June

* (b) 5% July
_(d) Tth July

*4%
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11. g9 H HH-H1 377 TR S0 2 ?
(a) 2RI 3
(b) AR 3TFA
l('c)?r%m
(@) THIF T

12. mmﬁwwmaﬁwaﬁw%

(2) 13.8 (b) 12.8

L@ 148
13. Tmafafed § § SH-91 S| W 1 A% T
e 7 P

(8) JRFHT, b) =%

) B> || - (d) FH -

14. Tr=afaRea ¥ @ =9 59 T30 o9 e’ e
FIITY ?
(a) I3ed Rt
o) T
(o) Sl uife — "
Ud) mwaﬁfa«—dl

15. 3fe ST Fuimmern - aft 31eR 2 ¥ IR e
Teft TR ST Tensl @ fefua e I,
a1 wisg JHANSI &1 9H

(a) 183 §- (b) 177

(c) 180 (d) 189

16. 9, W&l gAY 95 S, A e qu
UURSIEREIR I | ma——c&rvﬁaqaﬁﬁa
fer
(a) T 9 St
(b) LA IA

If(c)mugéﬁa‘]
(@ AR = Tzt

17. Toye waierr foe 9 A S R 2

. ® 53
(© 7 . (@ TR




19.

Which of the following coal field is NOT
spread in Damodar Valley ?

(d) North Karanpura

1 2
+=a and x—1=b,then'which
X § =

f the following is correct ?

(c) a2=b%2-2
(d) a2=b2-1 .

20. Méf'tch the following correctly.
1. Protein
B = G 3. Jowar and Bajra
=Dy D. Tea 4. Plantation

(@ A—1,B—2,C—3,D—4

| TOW N BN |

21.

Code

B A—2B-10C-3D-4
@p =2 B=1.C-4D-3

1. Shaka Satavahan war

II. Yashodharman and Mihirakula
= struggle
ITII. Ajatashatru and Lichchhavi
_struggle
IV.:Skandagupta and Huna struggle
Select the correct answer from the code
given below.

) II Iv, 1, I

| (c)i:i, oI () ILI0L IV, I

DVHJ - 01

18, o & § -1 el ésrimﬁatmé’rﬁﬁaa
T2 ?
[0

(b) TG 4
(ORULEH
(d) ST HTT

19. ?Irﬁx +——a ﬁ(x———b o ffarRaa
5 ﬁﬁﬁ—m@;@%? '
ﬂ@ a2=b2+a""

(®) a2=b2+1

© a2=b%-2

(d) a2=b2-1

20. T=feiaa = o gafea Hif |
A. frem 1. 9IA

£3 B. deud 2. it :
C. U™ (1) 3. SR T 9
D. 9™ 4. e

@ A-1,B-2,C-3,D-4
r('b)A 3,B-1,0-2D—4)
") A-2,B-1,C-3,D-4
@ A-2,B-1,C-4,D-3

21. TrfoiRed g2l /dent w e A qen s
T HrenRd I wEfRE iR, T e 9
e T
I. IH-daaTE I8
I1. e qen fifega dad

1. sy ae Rrsefy dad Sy
V. ST T g EE [
F R T e ¥ T W A T FINC |
%R ¢

I(a) L, 1, IV, 1T l () 11, IV, I, I1I -

(© LIV,ILII ° (d) I, OL IV, I°

*5%
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22. The maximum number of partners in 22. Hifha giRrcea arell Teiei (Yo, d.) wd
a Limited Liability Partnersh_lp (LLP) TEER! Y Aheray TE Bt §

23. The United Nations Population Fund, | 23. HJ&d U G 1Y o 30 Sfean fm

in its ‘India Ageing Report 2023’ has e 2023’ & IE IIH TR g T 9 2025
projected that by 202.5 the Population age a% aa § 60 a9 qur 3= 3T i SFEET
60 years and above in India would grow | - Srefied & S

to the following ] oL

() 138 Million = (b) 128 Million (a) 138 FfeRH - (b) 128 ﬁfﬁm

T @ 148 Million | ; Fc) 15811‘41%1!1'—&[ @ 148 fifemm

24, TrfaRea ¥ & Reae g gou e g
HEd 2024ﬁsrm%a1w% 2

| DT oweem —oHru R

) ATIMS — SBI — Smart Health Card

(c) AIIMS — SBI — Cashless Transaction © @ T3, - S = ””
£~ Card ; _ e e
1@ AI]MS SBI- Digital Health Wallet! (D) T - G .o, - Tafves vew anaz b s

25. Where is phar%"aceutlcal park going to | 25. S YW ¥ NWefig b FEf S T @B ?

be located in U Pradesh ?
i o (b) Prayagraj (@ WT%MWE ) AR
~ (@ Noida (Oo= ] @
26. HCF of two numbers is 16. Which one of 26. < GEAI3! S HEOH THYSAS 163 | F=fafaa
the following can never be their LCM ? H A BT HH ff T T e TE
B ThaT B ?
(a) 112 () 112 ES5E  (®) 96
© 160 © 160 l'ilgi‘iﬁh.

27. Which of the foll owing district of Uttar | 27. T # 3 ST T 1 H-91 SHUE =R TAT
Pradesh touches the boundaries of four = T TSl AT R 7
States ? - |

(a) Mirzapur I(b) Sonbhadra ‘ g (2) Pt (® ISR ]
(c) Ballia Chandauli (c) STier (d) =Qe
28. In which year; National Committee of | 28. YN TSR N frH I¥ ‘warienwr Frsm &
‘Environment P anning and Coordination’ o= S U it ied TS oft 2
was formed by Indian Government ? s
% % (b) 1985 (b) 1985

| c) 1992 = (d) 1977 () 1992 d). 1977
/ *6*




29. The value of One Horse Power is

(a) 647TW
(c) 746 W

(b) 1746 W
(d) 476 W

30. If code of DELEEhs CCIDD, then the code
of BOMBAY will be
L(a) AMJXVS]  (b) AMIWUR
() AIJMJX .= (d) MIXVSU

31.

(2) 2006
(c) 2010

(d) 2008

32. Who among the following proposed the

term Ecosyst
(2) Odum
(¢c) Charles E 011 (d) Forbes

33. Where the firstBritish trade factory was
established ? ! 3
~ (2) In Surat
& L(b) In Masulipatnam l
(¢) In Hugli
(d) In Madra

34. List of Rubber producing States of
India is given below. Choose the correct

E combination as per production in

'E!%

,.,:,_' percentage on descending order.

I. Tamil Nadt
II. Karnatak
III. Kerala ,
IV. Andaman afid Nicobar Islands,

I'ES_HI_ITIV' ‘@) I0L I, IV, I

© LULILIV (d IILIV,II

* 7%

e ‘Right to Information

DVHJ - 01

29. T &9 UieX 1 9 8T 3

(a) 647TW () 1746 W
| () 746 W | d) 476 W

30. @R DELHI® % CCIDD &, & BOMBAY

Fa) AMJXVs;I .(b) AMIWUR
(© ATJMJIX (@ MIXVSU

31. ‘g %1 ARFRR e’ few o wiia

g7
mym @ 2006 [® 2005 }
EEE (© 2010 (d) 2008

32, TamfaRem 3 & Rewy mRRRE 7 7 A
et e 7

@
(c) =" TeeA (d) wisd
33. wum fafest =muiies SeEFT el TuTa

g3 AT 7
(a) T

I(b)ﬂg?ﬁj_éﬂﬂﬁ
() T !

@ wed B

34. 9 9RA % WS IEH TN b1 G G
§ | Seare 1 IR T ¥ SEER Ted
# ugt gm = ghT |
I. aferrg
II. FAles
II1. &
IV. 3veaH 3R e g g
r @) III,1, II,Iﬂ (b) IIL, L, IV, 1T
(@ LILILIV (d) LIOLIV,II
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35. Arectangle whose perimgfcer is 54 m, has
its sides respectively diminished by 7 m
and 4 m, so as it becomes a-square: Area
of the square is ]

(a) 49 m2
(c) 100 m2

36. Which sapling was planted on beha]f of
the Government of Indmm the GZO Tree

Plantation Ceremony held in New Delhi

EISE in October 2023 ? ey
Er¥T (2 Banyan |  (b) Ashoka

(c) Peepul (d) N'gem

37. Fragrance and Flavour Development
Center (FFDC) is established in Kannauj
to evaluate the purity oﬁ*ﬁvhich oil ?

(@) Palmoil ﬁ) Mentha 0111
(© Soyabean oil (d) e o1

- 38. In human body, kidney‘iSiresponsible

I (a) For excretion I :

() For nutrition 7 *

(¢) For transpo;_'tation 'qg'n)lood

(d) For respiration

39. Where is Indian Agrlg

Research Institute located

[® New Delhi |

(d) Lucknow

(a) Jaipur
(¢c) Kolkata

40. One rupee note is issue which of the

following ?
=l (a) Reserve Bank of Indla
5%[(b) Government of India - l
(¢) Central Bank of India
(d) State Bank of India

*8 %
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35. U T TT&eh! Ui 54 1 ], Sl YSTiadi i
Haw: 7H IR 4 H F9 o S @ @l @
TF T §H TR lsaaﬁw e'ésrtb‘a%

(a) 492 (b) 36 2
(© 1007

36. mzozaﬁqﬁﬁwﬁﬁmﬁame
JHRYV THRIE H TRA THR H 3R
HI-TT T SRR TR AT ?

-[EE1gE o e
(@ T EEE (@) $m

37. m%ﬁwmmm%mw—ﬁa
T I T TR SaaqEe ¥ (FFDC) i
TATGAT Y T8 ? :
(a) T ¥ ‘|(b)ﬁ:erraa]

() BeEFdE  (d) TEE A

38. WHY IR ¥ fepet Sueerh 2
[@ s==s )

ORLEERS
(o) T Hem ¥ R
(d) @ = ot

30. WRHW FN WiETHR STHIH TEIH Hal
@ ?
(2) S
(c) SHITeTal

40. T ¥ Wl A1 frees grr okl T S ® 2
(2) W fod §%

(©) vz S ams zhe
(@) 9T we I

o F&)

(d) IE=T=
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- Part-II/wm-1I
Agriculture/sf®

41. Match List — I with List — IT and choose
the correct answer using the code given

List-II
(Population)
1. Homogeneous
and homozygous
2. Homogeneous
and heterozygous
Heterogeneous

A. Hybrid

B. Pureline
C.” Multiline 3.

D. Open pollinated 4. Heterogeneous

and homozygous

Code
4,D-3
—5,B~4,C-1,D-2
© AZ3,B+8, C—4,D-1
(doA—=4 B3 C~1D -2

42. Consider the following statements with
reference to NAFED :
1. NAFED was established on the
ausplclous s.day of Gandhi Jayanti on
gnd October, 1958.
. 2. NAFED was set up with the
romote co-operative
agricultural produce to
benefit the farmers.
Select the correct answer from the code
glven below

(a) 1995
(c) 2011

(@ 1998

44, Form of water preserit in the soil’which
does NOT meove with gravity

(a) Capﬂlarywater
(c) Grawtatronal water
(d) None of thése

1, T =19 T - 1 g v

and heterozygous

B D e v

el % 99 ¥ ™ g 3 9 swghu |
- I T - 11
(st (wmfee)
A. T 1. Tt w§ gaged
B. g awWd 2. 9uTl U@ fosmge
| EE 2 agm 3. Toawmfi w
B ﬁ-qq-gmh o

- 4, Toymft @ wmg

I(a) A-2,B-1,C-4,D-3 I
2

) A=3,B—4C-1,D-
(©) A~3,B-2C-4,D-1
(d A-4,B-3,C-1,D-2

42. %S % ey o Ffeiea weml | fer
Hifw
1. TS = TATUAT 2 STHSK, 1958 i

el SRt & g fed WA R o |
2. TThE I TG FoFEMI 1 9 T %

e S 3u9 % FESHRl favm =i seE

T FH R Y H T o
:ﬁ%ﬁ%nﬁ@ﬁaﬂwﬁl
G
(c):r?ﬁ1=r3°r2 (d FT2 =

43. Wy T it v SRR wwam stiifem
= form o srffafm fem mm e ?

(2) 1995 — LS
© 2011 @ 1998 E.%’Eﬁ
44. ﬁ@ﬁﬁ@qﬁmwsﬁmﬁm&wﬁam
T = @
2) SHITEHI I
(c) TRESTHN ST
(d) = | FIE &

* 9%
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45. Match silkworm with their host plants.
A. Mulberry silkworm 1. Ricinus

B. Tasar silkworm

C. Muga silkworm - 3Mag,:hzlus
" bambyciana
D. Eri silkworm 4 Morus spp.
(@ A-2,B-1,C-4,D-3
(b) A-3,B-2,C-1,D-4
() A-4,B-2,C-1,D—-38 .
4

46. Calcium silicate contains %

silica.
(a) 21 (b) 11 . ¢
e

47. Match List — I with List — IT and choose
the correct answer using the code given
below.

varieties :
BOE  List—I
E"j-fr- A. Alphanso . Bi
B. Fazli zardalu 2. Maharashtra
C. Lakshman bhog 3. Uttar Pradesh
D. Langda 4. Gujarat
Code :

(@) A—l,B—2,@—4,D—3 ‘

R e gy 2D T
d A—3,B—4,C—1,D-2

48. First All India Coordinated Research
Project (AICR?) was initiated in 1957 in
which crop ?

(a) Rice (b) Wheat

(d) Pearl Mﬂlet

49. Nano DAP contams mtrogen

phosphorus respecj;lvely
(a) 16:32
() 8:12

@ 18: 46:,_?

DVHJ - 01
45. WW % FHid B % Howe Dot Y e 5 |
A. TEE ®W HiE 1. RiEa g
B. TR ®™ i 2. 2R 35t
C. 71 & Hie 3. Aferg
: SIS AT
D. T 5w #ie 4. TRE TS

(@ A-2,B-1,C-4,D-3
() A-3,B-2,C-1,D-4
() A-4,B-2,C-1,D-3

,EA—AL B9 €8, D=1 I

46. Wﬁmﬁﬁmﬁ%w

ST 2 |

@21 e @)1 .
@41 B
47. = -1 =1 = — 119 gafa i qor 99
foT ¢ % § v s ghw |

FretfaRea Sft. o1, 31 T o A ok |y
gAfera i :

-1 =i - 11

A. JASE 1. fosr

B. Wil SR 2. AENTSE

C. S A 3. I T

D. e 4. TSq

R 4

@ A-1,B-2,C-4D-3

A-2B-7,C-4D-31 .
%;A—zx,B—?,c-_z,Djl:l

(dy A3, B4, 0=1"D=3

48. wgEll ew IR THi=E SgEa™ aies
(TIRE.HIRA.) 1957 F Fow woet & yw
Hwgedt e
(2) =T ® W EE

@ s S

49. S f.ud. § wEs: m@maﬁxm@qﬁw

Eﬁ%
@ 16:52
{©)>8+12 (d) !18 : 46

%10 *
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50. Who is the father of Co- operatwe 50. WA 3 BI-IATRIEE IATEITH % 56 B & 7
Movement in- v India ? &
| (a) G.Marshal  (b) J.K. Mehta_ (2) ft, AT OEER:

© F. Nicholsen [ (@) A.Smith [ = o) @ ¢ e !

51. setvation Program, contour 51. g HRE HEh § wHres Aged) B HE A
gun_ding is done where land slope st e foen i 2, el S d
aving Y
BISE (@) 6-9% . (@) 6—9%. ®) 2- 6%

= (©) 1;[ -13

@ 9-11% () 11-18% @ 9-11%

52. The scientist associated with laws of 52. W ¥ i % Frafe ST 3
_inheritanceds, : : ‘ gaz R I

() 3. I, Fecha %ﬁﬁ*

@) 0. 7. Delpsrirer: ! E (©) 3. ST, T -
(d) None of these ’ (d) ¥« Eﬁé &
53. Which of thejollowmg is NOT a type of | 53 Tfafeadd aﬁ:r—m @ scrs?rffm T THR
Ukility ? = & T 27
(a) Time Uﬂh;ty ‘ (2) 9 ST
(b) Place Uta]aty (b) T ST

(c) Possession Utlhty © :ﬂﬁlﬂ'( EERIEG
{@ Farm Utﬂla £ (@ & st |

54. Match the following National Research 54. T™ e FE RIS WH T e T |
Centres Wlth-theu' location. A. =ﬂ'3[\ 1. TR

1. Nagpur
B. WREH 2. Pili’ilg(
2. Solapur c. 3 5 g
3. Solan o e :
D. 3R 4.

D. Pomegranate 4. Pune

Code: :
(@) A—-4,B-3,C-2,D-1
® A-1,B-2,C-3,D-4
r(c)A 1 B-3C-4,D-2
d A-4,B=2 -1,D-3

uﬁg@(a}A 4B 3,C-2,D-1
() A—1,B-2,C-3,D—4
© A-1,B-3C-4D-2 |
@ A-4,B-2,C-1,D-3

55. Calculate plant population of maize in 55. 6000 o Hiet & & w1 3 Wt H TS A

6000 m: areaz,:,lf it is sown at a spacing o1 IR, Ife 38 60 et x 25 T H R
of 60 cm X 25 ¢m. TWERT TR |

(2) 40000 plants | (b) 60000 plants (@ 200004 § (o) 60000

(© 6000 plants  (d) 25000 plants (c) 6000 (d) 250007
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= E! (a) Cabbagef
it

ch.lckpea ?

(© Chppmg”

(d) Propping-”

57. When first Krishi Vigyan Kendra (KVK)
was established in Puducherry ?
(a) 1973 (b) 1972
(0) 1975 | (d) 1974

58. Purple blotch IS a fungal dlsease of Wthh
vegetable crops

(b) Carrot
(d) Cauliflower

59. Mustard Sawfly pupates in
(a) Stem (b) Leaves

(c) Soil (d) None of the above

60. Which of the,;

owing is example of

(c) Apatite (d) Gypsum

61. Match List — I with List — IT and choose
the correct answer using the code given
below the lists.

List-1II
(Stage)
. I stage
. III stage
. 0 stage
. IT stage

and magnesi m, is
_(b) Calcite
(d) Anorthite

(a) Dolomite:
(c) Biotite

DVHJ - 01.

56, = 3 fom v B S e i w9 &
ST 7 7
2) TC IETEAl

(b) 9 % 30 T e |
(c) Tere/FAMdm LA
(d) e il
57. Jg=0 ® vom Y T 5 (%.41.%.) w9
TorTfir g7 AT 7.
(a) 1973 b) 1972
(¢) 1975

58. ST yeu1 TR Heoll S B BT Th HAD
shadme e |
(a) W (b) TR
(@ erid

59. . TRE! ! W ATE =EIH HLA 7
(a) a | (b) ufet &

[O="] @ sEwdazdd
60. Frefafga & @ wH-w muhes @fe =1
I E ?
(a) THEE
© @eme (@ Frew .
61. T - I o= - II & gafm i e
gt & A= @3 ™ g2 3 9 sw g |
gt -1 =it - 11
(&) (arereen)
A Tifemr Sy 1. 1 3R
B. TREN semyp 2. 10T e
C. [feAM diwmy 3. 0 3=
D. fefomn sfiwmy 4. 11 3@=n
T@2A=35B-1C-4D_2{mug
®) A—1,B—2,C-3,D-4 Xl
© A—2,B—4,C—1,D—3 &
@ A=4,B-3.C6-9, D=1

62. @@ﬁaa‘r%%@m@r%ﬁﬁaﬂw

ELM” b) dewme
(c) SHEEE (d) TheiEe

*12 %




Act was passed ?

(€ 1912

64. Which of the following-survey is used for
Watershed and urban development ?

() Semi-detailed
EEEI (b) Reconnaissance .
E s :

(c) Rapid Reconnaissance

l@ Detalledj

(a) ATP (bfé""RNA
© ADP

66. Which of the following is the scientific
name of finger m1]let <

67. . The form of sugar present in large
amounts in guava fruit is

(b) Sucrose
[ (d %’:é;li‘ructose‘ ]

(a) Glucose

(c) Lactose

68. Scientific name of E ro]
(bI;Z_ApLs dorsata
(d)y*Apis mellifera

(a) Apis indica

(c) Melipen spp. "

69. In India, Community Development
Programme (1952) was launched with
E] {3 the financial assistance of
(a) IMF .(b) World Bank

iy

ord Foundé\tlon -(d) RBI

70. ICAR — Directorate o; Weed Research is
situated at

(a) Pune
(¢) Indore

(L®) Jabalpur J
(d)"Solan

65. Hereditary materlal e hromosomes is

%13 *

DVHJ - 01
65. el ahif s e 3 T

o ?
(2 1904 (b) 1900
o) 1012 (d) 1908

64, Frffam i & frm wdam w1 SwEm TE@S

3R et forwm & fog R ST @ 2
() rd-fereqa

(b) TETISER TS

(©) Al | wHTRTS TRiaET

[oF]
65. gm@ﬁawm%

(o) T (b) IR.TA.T,
(c) TELUI. l (d) :cﬁ.qq.q.l

66. TmafaRaa ¥ ¥ wH-u1 R Aoe 1 A6 -
THR?

ESE () g fafermtEm (L)
-E!'.:l. (b)

© :%g gerferet (L)

(@) FrEIeH Bhifegered (L)

67. EC % B § IR 1 ©Y IS WET H
T ST B

(2) IS (b) il
(0) S

68. T AYFEE H SWMEH AWME
(a) Thw Sfedhr  (b) TEE SRET -
(¢) e whefier | () T ERiad|

69. WRA T WiHERs freh SRmH (1952) i
Rraeht Rl wemar & ey TR T o ?
(@) IEWTE.  (b) Forea =
[© ®: su=w 1 @ smeiam.

70. AE.H TR, — TLIGIR JEIH FreRme™

R ,
(2) T | ) Seag |

CE= @ =
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71. The physical envu'onment “of soil does
NOT comprise of

(a) Soﬂ water

72. Which of the following wheat disease is
caused by Nematodes ?
(a) Ear-cockle and Flag root

& (b) Tundu and Molya
(¢) Molya and Cup root
(d) Ear-cockle and Mat ro ;

73.  Which one of the followin “pair is NOT
correctly matched ? £

Crops MSP 2023 - 24 in Rs.
(a) Lentil - 6,425.00
(b) Gram - 5,44@390
() Urad - 695000
L@ Moong ——7755.00

74. Which is the recommendediemperature
for the storage of ripe banana with
humidity over 85% ?

(a) 10 to 15 degree Celsius
(b) 5 to 10 degree Ce1s1us

2 to 5 degree Celsius

75. Echinochloa frumentaceae is a scientific

name of

(b) Sorghum
(c) Finger mﬂlet (d) Pearl millet

76.  Concept of plant idiotype was first
propounded by
(a) M. S. Swamlnathan
(b) Mayer and Anderson
(c) J.D. Eastin ..
I(d) C. M. Donald I

77. Parent material which is fc ined due to
sediments deposited by flo wing water

I(;a) Det WashJ (b) Alluvium
(c) Till (d) Lacustrine

DVHJ - 01

ak W%%Wﬁﬂfﬁrﬁﬁaﬁ%
(a) a1 v
(b) :

[ fre]

(d) EET?IW

72. ﬁm%@aﬁﬁaﬁq-mzﬁﬁmaﬁwﬁﬁz
ﬁaﬁmﬁ% i

(c) |l T Y 8.
(@) 95 T weE T
73. T=fafea d @ ﬁ-r—m R aﬁ g?rl%fa
TR ?
waer S a H .
C [ 2023 - 24
() 7 = 6,425.00
() = - 5,440.00
(c) 3¢ . = 6,950.00 .

l(d) T = 7755(ﬂ_

74, ssmﬁamaﬁmmﬁﬁ%w
% fore STt asEm w § 2
(a) 10 9 15 feift afcawa
(®) 5 ¥ 10 foft afcmm

¢) 15 3 20 f&h afcwg
|(d)2§5ﬁﬁﬁaw |
75. SIS FARAT S5 19 &
[F=] o ==
. ©@FgME |, (d) TR W
76. maﬁ%ﬁasq(uﬁm)ﬁmmwﬁw&a
6 oft
(a)@@ﬁltﬁmq
(b) R &
(C)ﬁ??f?@?
Eu-
7. m%m%mm‘wﬁ?%m‘éaﬁ
@ fa B b Fmior e 2, w7 e B

. (b) T
(© f= (@) A
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78. Rangrajan Com_m:lttee is related to

(d) Sugar Industrie‘”sﬁ

79. The number of stylets in female =
mosquitoes are .. :
(b) 04

% (df)f 08

80. Which Agency govei'ns the National
Agriculture Innovation Project ?

(a) International Moﬁetary Fund
(b). United Nations:
[© World Bank J

(d) World Trade Organization

81. Whlch one of the fo]lowmg pairs

82. Which one of the following statements is
correct ? %

(2) Azotobacters fix-nitrogen in soil
symbiotically in-association with
legumes. !

(b) Rhizobia fix mtrogen in soil
non- symb1ot1ca11y’

(c) Clostridia fix nitréogen symbiotically

in association with legumes.

ue green algae fix nitrogen in
paddy fields under submerged
conditions.

83. Which of the follow;jé accurately

represent the comp_m'";ent of Bordeaux

chloride
(d) Calcium sulphate and hydrated lime
*15 %
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78. TS gitfd Teita ]
(a)33i17=53'€ﬂ11

(b) gu & B
(c) TS 3= 9

Lo Ssam)

79. mwﬁwﬁzﬁmaﬁ%...

(a) 03 ® 04 myE-
@ 08 Y
80. ﬂ@ﬁ%ﬁwﬁqﬁwaﬁaﬁq—@ﬁ@@-
frefa s g ?
(a) ST 51 I
c ﬁﬁﬁ?s

(@) Torea =mIR w@reA

g1. Tr=fafen & @ =F-w 0 (FHA-S )
& g T 7
(a) W (Rfem faftr) — 25 - 30 foctl/2.
(b) HX T Tl 7 — 80 — 90 FRel /3.

[Oten —we___ 14_t6teai/s]
(d) = — 75— 100 fAell/R.

82. PefRead d S-TM A T 7
(2) THIRISTR ToEA! dieii 5 | Fest
AEEISH H TESE! 9 9 qa1 H B
gl
(b) TR a1 § TEEIH i STEES i &9
BB et |
B (o) Taifem coret dief % Ty frere
e w9 ¥ R Fa R |
(d) ST ik
% wai A Ao PR R |
83. ﬁnﬁﬁﬁq—maﬁéﬁm%mﬁﬁﬂ'@
ey Ty ?
(a)WEFﬁTéGﬂI@f%WEFIEﬁﬁE
() I Tcihe T BT i
(c)wmaﬁ?ﬁ%ﬁmnm

(d)a:ma@zaﬁtm%égw
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84. Which one of the fo]lowmg is NOT soil
flora ?

(2) Fungi _
@ Act
85. The variable costs are also-known as
(a) Fixed costs
) Prime costs
(¢) Supplementary costs .
(d) Transfer costs

86. Match List — I with List — - 11 and choose
the correct answer using tHa
below.

List-1
(Fruit Crops)
A. Aonla ong
_E il B. Custard apple 2. Eupfl‘%‘i'biaceae
B C Figs 3. Moraceae
D. Bael 4. Rutaceae

Code : B

#

87. Which technique is used“to produce
hybnd seed of paddy ?

(a) Cytoplasmic genetic male sterility 1
(b) Genetic male sterility
- (c) Physiological incompatibility
(d) Morphological incompatibility

88. On the basis of clima :
classified as a
(a) Subtropical fruit
(b) Temperate fruit
(c) Mediterranean fruit
(d) Tropical fruit

89. What is the use of colch101ne in plant
breeding ? ~‘

P naploidy :
(¢) To develop a]lopolyplouL

(d) None of the above

DVHJ - 01

84. Trfefeaa & & SH-w1 T g1 Sty

TE 7
- (a) HIH (b) SFAfEn
@E ORI

85. TRRHIT AT St T el & 5
(a) O @R EEE "
[© =] e
(c) ITTLH AFTT
(d) TR ST

86. T —I Tl — Hﬁgﬁﬁmiﬁmwﬁ%

63 T % & udt W gh |
-1 - 11
(el < ) &) -

A. fgen « 1. GEE -

B. IR 2. JHRIswE

C. 3R 3. ARt

D. s 4. ®H

e

87. wwwaﬁamwﬁ%gaﬁq—;ﬁwﬂa;
T T fomem ST 2 2
I(a)mmmmmﬂ'
(b) SIIRTHR TS e
(c) PRI = m@g
(d) TR A= B

88. W%mméﬁaﬁﬁmmﬁwﬁqw

~  THEmTE e
(a) U HieseiT Ba
(b) sfars st v

(o) Y B
lgdzmwﬁaﬁaﬁ |
89. UG IS H hife=dd S 397 IR ?
@ TS won |
(b) 3T I~ ST :

© W@Iﬁmmm
(@ 39w H | HE T
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90. Triticale is a cross between .

— Anabaena

Ehh. (C) Azolla
- — Non-symbiotic

(d) Azotobacter
92. Which of the following i

hormone ?

(a) NAA

93. Which of the following pairs is NOT
correctly matched ?

(a) Pusa Himani — Radish
(b) Pusa Kesar

— Carrot™"

(@ Pusadyoti - Palak

94. According to Central Rese
for Dryland Agriculture (CRIDA),
Hyderabad shallow ploughing was
class1ﬁed at a depth of
a cm

(c) 15—20cm

95. Whohas developed Digital
Application in agriculture ?
' (2) IIT, Mumbai - ey
BYS (b) LT, Delhiand JIO
() IIT, Kanpur and BSNL §

(d) None of these

96. Which ofthe fo]lbwing methodof irrigation
have high water use efficien

a) Drip irrigation '
2;) ;prinkler irrigation

(¢) Check basin irrigation

(d) Flood irrigation

DVHJ - 01
90. Tfera % oI T T R |
(@ xS (b) T xS
I(c) Exf] @) 79 x3
ﬁw%i@aﬁ%aﬁq—mwwﬁ e
) a9 W TS
() TsSfSTE s - maﬂﬁ?ﬂé
(c) T v GATHHT
(d) TR - FEESiE
92. fr=foed & SH-U1 T g g § 7
(a) TEE. | (®) m‘iﬁ.m‘
@ demsHie. (d) IWwu.,
93. Frfien I & r-a1 3w v PRE TR 7
(2) @ et - weht

(b) TMHW - TR

|Ec)u@1?zli5§ ~ @UI

(d) mr st - U

94. Fgw o sReeR BR IRt Tiwem
gﬁﬂméq),m%mm

%ﬁuﬁwmﬁm
TR O | - EIJ .
|ga)5-§ k: (®) 2-33.1.
(¢ 15-209.7. (d) 9-109.4.

95, ﬁﬁ%ﬁmmﬁq@mmﬁm
e ?
() 3TE.3TE. 4., e
(b) 31E.31E. 4., feeeht ot sl
R R
@ TSR

96. TrfaRea & @ fGumE < frg Ry § s=w 5@
ST ST Bl & 2
I (2) a@-ﬁgﬁm%mmﬁaéj
() sBR ReE
(c) e fo=rs
(d) =g =g
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97. STCR (Soil Test Crop Responé%") Approach
is propounded by
(a) Govindaswari
(b) Kothandaram
c) Rama Moorthy
(d) Schokolaski

98. What is the scientific name of wild oat ?
(b) Avena sativa

(a) Avena cerealis
(c) Avena vulgaris

99. Where and when was ICAK— Central
Soil and WateréConservatmni Research
and Training Institute estab hed ?

(a) Deharadun, 1975
(b) Kolkata, 1975

(¢) Jodhpur, 1975
(d) Delhi, 1975

100. Which one of the following
NOT correctly matched with-fuit crops

variety ?
(a) Mango — Bombay
En. (b) Aonla — Francis

c) Papaya — Arka Surya
d) Banana — Red Lady

A short duration crop in be Ween main

101.
crop is termed as

Ea) Catch croﬂ

(b) Mixed crop
(¢) Inter crop
N (d) Cash crop

4

102 }I;eaf curl disease of cotton is transmitted
y
(a) Aphid

(c) Hopper :
103. A branch of science that de s with the
study of origin of the soil, its ¢ c ss1ﬁcat10n
and description is known ass

(a) Ecology (b) Edaphology
(c) Pedology (d) Geology

DVHJ - 01
97. TH.LHI.IR. FTURON H Tiewriea feam 2
(a) TMideraT
(b) FiesRH

(d) TpreTrehl

98. SHTEft 3§ 1 SIS AW FMR ?
() 373 R (b) 3787 GerEaT
(¢) 37T T '(d) aqam—ganj

99. IE.H.T.IR.- H= 7T T S Ty
ITFEUM 3R T g frw wm e o
ﬁwrﬁaﬁmw%?
, 1975
)ﬁam 1975

()W 1975

(@) feeeht, 1975

100. ﬁngﬁﬁ@w@ﬁmﬁa}ﬁmﬁw
gufera T 2 ?
(@ 3m - 9 I
(b) e - HIfRE
(© T - I g
[OF - = |
< 4&T HEE & TR TN B qET e IEr
# GoR 2 STl BEe W e
I(a)éﬁaﬁq(aamfﬁwa) i
(b) Treree wa (e woer)
- (0) T HM (TEHH)
(d) 1 T (THE BEA)

102. meﬁqﬁfﬁqmm@;ﬁ%

(a) g g (b) Brw g
© zmaw @ wewzm )
103. fom i w1z wwEn < firgt < seaft, s
aﬁhﬂwaﬂtﬁmﬂmmm%
FFA R
2) UTRIEITdqeh! (b)QE'NﬁFrm?
[o=as] (@ u-fem E!m
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104. Consider the following events and arrange
them in correct chronologlcal order of
metamorphosis in butterfly, starting from
the earliest to the last activity :

I. Metamorphosis
II. Larva

ITI. Imago
IV. Pupa

Select the correct answer from the code
given below. =

Code :

(2) LIIL IT, IV
(b) IIT, 11, IV, I
(© IL I II1, IV
, I

2 9

105. Which of the following is the major
Basmati rice producing State 2

| (a) Uttar Pradesh'(b) Ani
(c) Kerala (d)

106. Size of particle consider a a soil colloides
@ <000imm] =
EI5E (b) >0.001 mm
¥ ) <0.0001 mm
(d) 0.001 mm

107. In reference to minimum isolation
distance for certified s
which pair is NOT correctl; !
(a) Okra - 200 metre
() Rice — 3metre
(c) Hybrid Cotton — 30 metre
[ (d) Tomato — 50:metre

108. Based on the criteria of homogeneity, the

agroclimatic zone of India is divided in to
(a) =14
© 13 !

DVHJ - 01

104. foafert # f=fafga semstt w fer St
AT 3¢ TE! HIAHH T ST Cd HIRT, Tod
TE | R RGN ety o o
1. &9
11t
I &M  [E5E
IV. &m El.”

9 few MU e @ wd S == HiRT |
T

(2) I IOI, II, IV

() IIL I, IV, I

(© IL, L IIL, IV

l(d)IIIIVIII'

105. ﬁm%ri@aﬁﬁﬁq—mug@wnﬁaﬁa

IUTEH TSI B 7

[ | o st

(c) = (d)gﬁﬁﬁé:@
106. ﬁmﬁm%waﬁwaﬁaﬁew

S8 7

[(a) 0.001 e & |
(b) 0.001 firft & 7R
(c) 0.0001 frft & =y
(d) 0.001 Tt

107. SO S Ic91GT Bg A JUER g0
T o T 3w T ghfea T R ¢

(a) R - 200 T
®) T\ - 3
(c) TR U - 30 "X
(d) T ~ 50 :ﬂal

108. awﬁawﬁwm%wwwﬁﬁsﬁﬁ
STy &5 H wier T R 7

(a) 14 lm

(© 13 @ 16
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109. Amrapali is a hybrid varlety obtained
from crossing of

(@) Neelam with Langra
(b) Dashehari with Dashéhari
(c) Dashehari with Neelam
(d) Chusa with Langra

110. Consider the following fact regarding
Kisan Credit Card (KCC) Scheme :
1. Kisan Credit Card Scheme was
introduced in 1998. _
2. Kisan Credit Card Scheme provides
" timely credit to meet &
long term cultivation Xeéquirement,
post harvesta,expenses

mom

-Ehfl.
Select the correct answer from code given
below.

Code :

(c) Neither 1 nor 2 (d)

111.  Golden yellow colour tag isiised for which
class of seed 2

| (a) Breeder seed
(b) Nucleus seed
(c) Certified seed
(d) Foundation seed

112. Seed Act was enforced thy oughout
India in i
(@) 1967 (b) 1966
@ 1963

113. Which of the following pairs (crop — pest)
is correctly matched ?

backﬁmth

(a) Paddy _ Diamo
@@ (®) Cauliflower — Gandhibug
.Eh;l. (C) Mango By Mealyib:ug [

(d) Wheat — Pod borer

DVHJ - 01

109. MmOl fFe HIRM & yia de TR 7
(a) o™ % A1 e
. (b) Sl % WY gwEd
T© oot = et e |
(d) =T % |1y wen

110. Toum sfse =€ (&.4.8.) Jomm & g 3
FrefaRea ael W R AR
1. 199813%&1?%%265@‘%@&@
TE off | :
2. Toham shfse 1€ Ao stemmafyy/emeht
T i Gt N SAevIHAT, FHA B

%m%@éﬁ@W%mwm
=0T WGH HA B |
e g T e @ s gh |
e ESE
'(a) 16 25HIY  (b) Faa 1 [
@FTAM1TE2  (d) Faa 2 :
111, G180 9l @1 &7 31 oo o & &fiwr of v
fr ST 2 2
l(a)mdkﬂ
(b) TRERR i
(c) FHTfRTE &S
(@ 3 e
112. wepl wia & i srffrem amg e
(a) 19677 () 19667
@ 19687

113. ﬁwl%ﬂiaaﬁﬁaﬁq—mgm(w—ﬁw)%ﬁ
gl §

(a) g™ _ TS 3% vEv
() TeFmeft  — T
[O== — Foer 1
@ % S
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" 114. Which of the following pairsis NOT
correctly matched ?

(a) NAA — Influenceflowering
(b) GA3 - Encourafgfé seedling
ytoki — Decrease cell

division
(d) CCC — Increase draught
resistane

115. Which factor is used to conyert organic
carbon to organic matter ? .
(a) 1.074
(c) 1.742
116. The first viral disease of plant was

reported by
(a) M. W. Beijerinck

,_ (c) Stanley
(d) Fraenkel Conrat

117. In humus, the highest perc.

(a) Oxygen :
(c) Hydrogen

(d) Nltrogen

118. Beautiful Garden book is written by

(a) T. K. Bose

119.

(b) Chromosomal aherration
(¢) Multiple alleles

(d) Recombination

(a) October 11, 1982

: "{B‘- Y October 11, 1972 |

(¢c) June 11, 1972
(d) October 21, 1972
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114, frfefes ot § HH-w1 gifea T8 & 7

(2) NAA — USOF %hI §GTaT 3
(b) GA3 — Oy sl S¢IN HI
E4E . ieaniga L @

L k|

(d) ccc — @1 U&7 &A1 9T @

5 S F T FEEF HET B TR
veret 3 ufafda @ & foe fee S g 2

@ 074

(c) 1.742 d) 1.173

Rt F gom Ty 1 B fREw w2
(2) @. g7 fosift

| Do |

(c) & |

(@) T HiRe

117. &Fa 8 ged i wioea § aen S g

(2) ATFEHNH
(c) TTFSISH (d) TEESH

118, sgdiget e R el 7 2

(2) . F. 99 ®) =fi. @sT
© '%?. wag | (d) W . e

119. TeNe-d & GHY < 31T Q¥ 3 S &
T WY TTReT S S TR W wEd B
(a) Toepe
(b) TOTEAT =T JTHH B
@ Fgie e
(d) I H

120. U B STTHA HEAH BT JTEYH
T foh o g8 off ?
(a) FREER 11, 1982

, SIETCIY s
(c) ST 11, 1972

(d) 3RER 21, 1972

115.

116.
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all the pages properly printed or it has any other discrepancy, then you need to approach the
Invigilator to get another set of Question Booklet Cum Answer-Sheet. -
6. In this Question Booklet all questions are printed in both English and Hindi languages. In case of
any ambiguity in the question, the English version of the question shall prevail.
7. Penalty for wrong answers : :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN 3
THE ANSWER SHEET.
(i) There are four alternatives for the answer to every question. For each question for which g
a wrong answer has been given by the candidate, one-third of the marks assigned to that 5
question will be deducted as penalty.-
(i) Ifa candidate gives more than one answer, it will be treated as a wrong answer even if one 3
of the given answers happens to be correct and there will be same penalty as above to that 5
question. 5
(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty 5
for that question. ”

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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